
pořadí příjmení jméno škola 1. úloha 2. úloha 3. úloha 4. úloha celkem status řešitele celkem + 
modifikované body

1. Guth Jiří G Jírovcova, Jírovcova 8, 371 61 České Budějovice 10 9 10 7 36 úspěšný řešitel 36,0230
2. Kepčija Petr G Jírovcova, Jírovcova 8, 371 61 České Budějovice 8 8 4 3 23 úspěšný řešitel 23,0148
3. Zeman Dalibor G Strakonice, Máchova 174, 386 48 Strakonice 0 10 8 3 21 úspěšný řešitel 21,0115
4. Theiner Ondřej G Jírovcova, Jírovcova 8, 371 61 České Budějovice 3 7 6 4 20 úspěšný řešitel 20,0120
5. Švec Václav SPŠ a VOŠ Písek, Karla Čapka 402/3, 397 01 Písek 0 10 5 3 18 úspěšný účastník 18,0097
6. Šmíd Filip G Strakonice, Máchova 174, 386 48 Strakonice 3 7 3 0 13 neúspěšný 13,0076
7. Vaith Jakub Česko-anglické gymnázium, s.r.o., Třebízského 1010/9, 370 06 České Budějovice 0 0 6 6 12 neúspěšný 12,0074
8. Svoboda Lukáš G Soběslav, Dr. Edvarda Beneše 449/II, 392 11 Soběslav 0 6 2 4 12 neúspěšný 12,0067
9. Říha David G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 2 0 5 3 10 neúspěšný 10,0066

10. Lipánová Michaela G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 0 0 6 4 10 neúspěšný 10,0061
11. Květoun Jan G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 0 6 2 2 10 neúspěšný 10,0054
12. Brandštýl František G Pierra de Coubertina, Náměstí Františka Křižíka 860, 390 30 Tábor 0 3 3 3 9 neúspěšný 9,0052
13. Pipek Jakub G Třeboň, Na Sadech 308, 379 01 Třeboň 0 9 0 0 9 neúspěšný 9,0043
14. Primus Martin G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 0 0 1 6 7 neúspěšný 7,0045
15. Hanžl Ondřej G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 0 6 1 0 7 neúspěšný 7,0035
16. Hucek Tomáš G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 0 0 1 2 3 neúspěšný 3,0019
17. Kuta Antonín G J. V. Jirsíka, Fráni Šrámka 23, 371 46 České Budějovice 0 0 3 0 3 neúspěšný 3,0018
18. Mládek Karel G Pierra de Coubertina, Náměstí Františka Křižíka 860, 390 30 Tábor 0 0 3 0 3 neúspěšný 3,0018
19. Rytíř Michal G Pierra de Coubertina, Náměstí Františka Křižíka 860, 390 30 Tábor 0 1 0 0 1 neúspěšný 1,0005


